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Name Student 1D. Section

1). ssuufesdagasvhauiaies 4 fuussedaduliies 8 wyu
\Wad 4 w2 20 kg #5aillaistu (gyration radius) 150 mm
o9 Bu1a 10 kg 5@ 119 (gyration radius) 100 mm
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ryo= 240 mm
rp = 180 mm
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2). The crank OA rotates in the vertical plane with a constant clockwise anguiar velocity ®_ of 4.5

rad/s. For the position where 04 is horizontal, calculate the force under the light roller B of the 10-kg

slender bar AB by the Newton’s Law. (15 points)
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3). szuulsznauainsen 4, van 8 saafianazalsag

7an A 17a 50 kg @i 400 mm D5edlausaunnuniu 0 vy 300 mm

418 B 100 kg Sederiuunuviuuaszan 47ge 0

FilSsflenaraudariny 1.5 kN/m
Gusussunaugalufinedauiinarifgasuduialielddad 100 mm sanvmanusddisllud
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4). The assembly consists of two slender rods AB, BC, each rod has 15 kg. and a 20 kg disk. If the
spring is unstretched when 0 =45 and the assembly is released from rest at this position, determine

the angular velocity of rod AB at the instant 0 =0° by THE WORK& ENERGY METHOD. The disk rolls

without slipping. (15 points)
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5). The 28-g bullet has a harizontal velocity of 500 m/s as it strikes the 25-kg compound pendulum ,

which has a radius of gyration k, = 925 mm. If the distance h=1075 mm, calculate the angular

velocity (0 of the pendulum with its embedded bullet immediately after the impact. (15 points)




